m To list possible S matrices for a metaclass, run the below code once B,W and V matrices are defined for
that metaclass.

m The below code works by permutating eigenvectors for eigenvalues +1 and -1 in W.

W= W/. {epsl - -1, eps2 » -1, eps3 » -1};
For[i =1, i <6, i ++,

For[j =1, ] <6, | ++,

tnp = Ei genvectors[W;
kkl = Pernutations[{1, 2, 3}1[[i1];
kk2 = Permutations[{4, 5, 6}1[[j11;

tnpP = {tnp[[KK1[[1]1]11], tnp[[kk1[[2]]]],

tp[[Kk1[[3]111, tnp[[kk2[[1111], tnp[[kk2[[21]1]1], tnp[[kk2[[3]1111};

dd = t mpP. W Tr anspose [t npP];

scal e = Di agonal Matrix[Tabl e[Sqrt [Abs[dd[[i 11[[i]1111, {i, 1, 6}11;
scal e = I nverse[scal e]J;

S=Sgrt [2] | nverse[Ei genvectors[B]]. scal e. t npP;

res =Sinplify[S. V.lnverse[S]];

| f [Count [Flatten[res], 0] = 10,
Print[" "1;
Print[" "71;
Print ["Permutation: " <>ToString[i]<>ToStringl[j1]1;
Print ["Zeroes: " <> ToString[Count [Flatten[res], 0]]11;
Print [S// MatrixForm];
Print [Transpose[S].B.S==W;
(#Print [res//MatrixForm]; %)
Print [Petrov[res]];
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